142 FE R ERERE SN A EHE RIEREH

S1=] HEANE | Fi9 | FEE | A0iF | 815 | RRzZE | S9ETY | BSETY | SESET9ZE
—R HERE-EY 5931 | 57.82 | 1283 | 66 | 48 18 74.17 41.49 32.68
R HERIE-EY 5934 | 46.99 | 2025 | 60 | 32 28 76.68 25.56 51.12
R E(—)- IS 3,518 | 46.05 | 1588 | 56 | 34 22 68.74 28.84 39.9
TR EERE(D)-HIRE 3,518 | 61.09 | 1340 | 70 | 52 18 78.35 43.90 3445

AR BRI R 7S B U Z EEAAE
TR MBI BB UBZELRE

AR Z Z=RIfR - RIT

SR =R1 25%(1/4) ZEMTHEHDE
BDHEFIT=1% 25%(1/4) EEMNTHEDH
SEDEZE=S 0TS - (R4S




142 FE KA BN EHREHE

£#8 PN Ma Mb Mec Md Me D1 D2 D3 D4
R HAERE-EY 5,931 7577 | 6484 | 57.69 | 5095 | 39.87 | 1093 | 7.15 | 674 | 11.08
— R HERIB-EY 5,934 8024 | 5554 | 4177 | 33.03 | 2440 | 247 | 1377 | 874 | 8.63
TR-BERE((—)-#I2E 3,518 7163 | 5232 | 4276 | 3591 | 27.66 | 1931 | 956 | 685 | 825
CR-EEREO)- S 3,518 7990 | 6897 | 61.01 | 5331 | 4231 | 1093 | 7.96 7.7 11
Ma=A1 20%(&) ZENFHIDH D1=Ma-Mb

Mb=A1 20%(F &) ~ 40%(R) FELEMTHHE  D2=Mb-Mc
Mc=R1l 40%(F &) ~ 60%(F) EEMNTIIHE  D3=Mc-Md
Md=Al 60%(FR) ~ 80%(R) ZENFIIHEH D4=Md-Me
Me=Hil 80%(FE) ~ 100%(F) & EHFTPE



